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1 100kN/ Mm% x5 - -~ -|13mEEZD -~ - -| 100kN/m%#B 2% - -~ -|13mZEEZ S ~ -
zh st 1.00 1000 ~ 477 59.44 | #FhUst | 0.00 ~ 0.00|1.70 869 Zznst 1.00 | 5.00 ~ 5.00 59.44 | =S | 5,00 ~ 5.00|1.70 869
P 100kN/mMZ#8 2 % -~ -|3mZEEBAS -~ -| 100kN/mM%E#BZ 2 -~ -|3mEBZ D ~
Zh st 1.00 1000 ~ 672 84.90 | =nst | 000 ~ 672 1.85 9.37 FnLst 1.00 | 5.00 ~ 833 84.90 | =nLS | 5,00 ~ 833 1.85 9.37
3 100kN/ Mm% x5 ~ -|I3mEEZD ~ -| 100kN/mM%E# % % ~ -[3mEEZD ~
znst 1.00 {000 ~ 777 99.72 | =S 000 ~ 777225 11.38 znst 1.00 | 6.00 ~ 10.56 99.72 | #nSt | 6.00 ~ 1056 2.25 11.38
P 100kN/ Mm% x5 ~ -|3mEEZ D ~ -| 100kN/m%#B 2% ~ -|13mZEEZ S ~
Zh st 1.00 | 0.00 ~ 6.90 87.54 | #hs | 000 ~ 690|255 12.89 Tt 1.00 | 5.00 ~ 1036 87.34 | NS | 6,00 ~ 1036 2.66 12.89
5 100kN/m%#BZx5| 1.00 000 ~ 124 11871 |3mZE#BZ% ~ -| 100kN/mM%E#BZ% | 1.00 | 1082 ~ 1468 11871 |3m&EBZ3 ~
Zhn st 1.00 | 1.24 ~ 9.02 100.00 | =nhst 000 ~ 9.02| 2381 11.68 znLst 1.00 | 5.00 ~ 1082 100.00 | ThLSt | .00 ~ 1468 2.31 11.68
6 100kN/mMZ A5 1.00 | 000 ~ 0.84 112.49 |3m%E#BZ 5 ~ -] 100kN/m#%#Bx25| 1.00 | 1079 ~ 1322 112.49 |3mZEBZD ~
znst 1.00 | 084 ~ 862 100.00 | =nst |0.00 ~ 862|231 11.65 znst 1.00 | 6.00 ~ 10.79 100.00 | =hS | 5.00 ~ 1322|231 11.65
” 100kN/ Mm% x5 ~ -|3mEEZ D ~ -| 100kN/mM%#B 2% ~ -|13mZEEZ S ~
Zh Lot 1.00 1 0.00 ~ 6.64 83.84 | =nst 000 ~ 000|177 8.94 Lot 1.00 | 5.00 ~ 7.99 83.84 | =nLS | 6,00 ~ 7.9911.77 8.94
s 100kN/mM#Z#8 % % ~ -|3mZEEBZS ~ -| 100kN/mM%EB 22 ~ -|3mEBZD ~
Zh st 1.00 1 0.00 ~ 6.44 81.04 | =St | 0.00 ~ 0.00| 1.69 8.563 znLst 1.00 | 6.00 ~ 7.68 81.04 | #ns | 6,00 ~ 7.68)| 1.69 8.563
9 100kN/ Mm% x5 ~ -|13mEEZD ~ -| 100kN/mM%E# % % ~ -|3mEEBZS ~
st 1.00 1000 ~ 642 80.77 | =nst | 000 ~ 642 1.92 9.69 ZznLst 1.00 | 5.00 ~ 8.05 80.77 | #ns | 6.00 ~ 805 1.92 9.69
10 100kN/mM%#8 2 % ~ -|3mEEZDS ~ -| 100kN/mM%E#BZ % ~ -|3mEBZ D ~
Zh Lot 1.00 1 0.00 ~ 517 64.46 | ThLs |ooo ~ 517]1.78 9.02 TnLst 1.00 | 5.00 ~ 5.58 64.46 | ThLSY | 6.00 ~ 568|178 9.02
17 100kN/mM#Z#8 2 % ~ -|3mZEEBZS ~ -| 100kN/mM%EB 22 ~ -|3mEBZD ~
Zh st 1.00 1000 ~ 6.07 76.11 | hs 000 ~ 607 1.83 9.26 znLst 1.00 | .00 ~ 7.07 76.11 | =hs | 6.00 ~ 7.07 | 1.83 9.26
12 100kN/m%# 25| 1.00 000 ~ 064 109.52 |3m%E#BZ 5 ~ -] 100kN/m#Z#z25% | 1.00 | 1053 ~ 1235| 109.52 |3mEBZB ~
zhn st 1.001064 ~ 843 | 100.00| Thbs | 000 ~ 843|219 11.06 ZTh st 1.00 | 6.00 ~ 1053 100.00| ZTNLS |5.00 ~ 1255|2.19 11.06
19 100kN/mZ#B25| 1.00 | 000 ~ 1.86| 12863 |3mEiBZ% ~ -| 100kN/mMEBZSZ| 100 | 11.17 ~ 2039 12863 |3mEBZS ~
Zh st 1.00 1 1.86 ~ 9.65 100.00 | =hst 000 ~ 965|251 12.70 FnLst 1.00 | 5.00 ~ 1117 100.00 | =hst | 65,00 ~ 2039|251 12.70
14 100kN/m%#x25| 1.00 |000 ~ 1.70 126.01 |3m%E#BZ5 ~ -] 100kN/m#%#BZ5| 1.00 | 1089 ~ 1800 126.01 |3mEBZB ~
st 1.00|1.70 ~ 948 100.00 | st | 0.00 ~ 9.48 | 2.24 11.34 znst 1.00 | 6.00 ~ 10.89 100.00 | Fhst | 6.00 ~ 1800|224 11.54
15 100kN/m% 25| 1.00 000 ~ 154 123.49 |3m%E#BZ 5 ~ -| 100kN/mM#E#BZ 5| 1.00 | 11.18 ~ 1800 123.49 |3mEHBZ% ~
Zh st 1.00 | 1.54 ~ 9.33 100.00 | =hst | 0.00 ~ 9.33 | 2.20 11.13 znLst 1.00 | .00 ~ 1118 100.00 | Fhst | 5.00 ~ 1800|220 11.13
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16 100kN/ Mm% x5 - -~ - -|13mEEZD -~ - - -| 100kN/m%#B 2% - -~ - -|13mZEEZ S -~ - -
zh st 1.0010.00 ~ 476 59.35 | #FnUs 000 ~ 0.00)|1.76 892 ZTh st 1.00 | 5.00 ~ 5.00 59.35 | =S | .00 ~ 5.00|1.76 892
100kN/mMZ#8 2 % ~ 3ImE B2 5 ~ 100kN/m%E#B 2% ~ ImEHBZS ~
zh st ~ zh st ~ Zh st ~ Zh st ~
100kN/ Mm% x5 ~ ImEHRD ~ 100kN/ Mm% % % ~ ImEBZD ~
zh st ~ zh st ~ Zh st ~ Zhs ~
100kN/ Mm% x5 ~ ImEBZD ~ 100kN/m%E#B %% ~ ImEBZD ~
zh st ~ zh st ~ ZFh st ~ Zh st ~
100kN/mM#Z#8 2 % ~ 3ImEHB2 5 ~ 100kN/m%E#B 2% ~ ImEHBZS ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/ Mm% x5 ~ ImEHRD ~ 100kN/ Mm% % % ~ ImEBZD ~
zh st ~ zh st ~ Zh st ~ Zhs ~
100kN/ Mm% x5 ~ ImEBZD ~ 100kN/m%E#BZ % ~ ImEBZD ~
zh st ~ zh st ~ Zh st ~ Zh st ~
100kN/mM#Z#8 % % ~ 3ImEHBZ 5 ~ 100kN/m%E#B 2% ~ ImEEZD ~
Zh st ~ Zzh st ~ Zh st ~ Zh s ~
100kN/ Mm% x5 ~ ImEEZD ~ 100kN/ Mm% Z % ~ ImEBZD ~
st ~ st ~ znst ~ znLs ~
100kN/mM%#8 2 % ~ IMEREZRD ~ 100kN/m%E#B 2% ~ ImEBZD ~
zh st ~ zh st ~ Zh st ~ Zh st ~
100kN/mM#Z#8 2 % ~ 3ImEHBZ 5 ~ 100kN/m%E#B 2z % ~ ImEEZD ~
Zh st ~ Zzh st ~ Zh st ~ Zh s ~
100kN/ Mm%z 5 ~ ImEBZD ~ 100kN/m%E#BZ % ~ ImEEZD ~
zhnLst ~ zhLs ~ Zznst ~ Zzhnst ~
100kN/mMZ#8 2 % ~ 3ImE B2 5 ~ 100kN/m%E#B 2% ~ ImEBZD ~
zh st ~ zh st ~ Zh st ~ Zh st ~
100kN/M% 8% % ~ ImERBZD ~ 100kN/ Mm% B2 % ~ ImFRBAS ~
zh s ~ zh st ~ Zh st ~ Zh s ~
100kN/ Mm% x5 ~ ImEEZD ~ 100kN/mM%E#BZ % ~ ImEEZD ~
Zh st ~ Zzh st ~ Zh st ~ Zh s ~
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